Pegel Eschenau
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N-Summe: 28,54
Scheitelabfluss: 41,00

Q Ereignisbeginn: 7,92

Ereignisdauer: 135
Abflussbeiwert: 32
N-Dauer: 32
max. N-intensitat: 2,40

mittl. N-intensitat: 0,89

Verzdgerungszeit: 16
Vorfeuchte: mittel
Wetterlage: 29

Niederschlagsverteilung

EZG Pegel Eschenau
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unker 13,20
13,2 - 14,4
14,4 - 15,6
15,6 - 15,8
16,5 - 15,0
18,0-19,2
19,2 - 204
20,4 - 21,6
21,6-22.40
22,8 -24,0
24,0 - 25,2
25,2 - 26,4
26,4 - 27,6
27,6- 28,0
28,8 - 30,0
30,0-31,2
31,2-324
32,4 -33,6
33,6-34,0
34,58 - 36,0
Ober 36,00
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